4V #8 / External View

BRAZ / Components

[ x®&2 : TY-34)2008.02.08

No. % / Part name ®E / Pcs ME / Material & . ZEME / Color- Finish
1 il 2 BERME ABS UL9LV-0 Jguv— , 79y
Side plate ABS UL9LV-0 Gray , Black
2 JoOoY bIL—L 1 7 B YWN=F WA, TIvo27L34+
Front frame Extruded aluminium A6063S-T5 Silver anodized , Black anodized
3 V77U - L 1 7 B YWN=F WA, TIv o704 b
Rear frame Extruded aluminium A6063S-T5 Silver anodized , Black anodized
L |{NXIAH NI/ Slide panel 1 7 b 24 A1050P / Aliminium A1050P |[~7 34 Y YW N=7 <4 + / Hairline Brushed silver anodized
7 W 3R A1M00P / Aliminium A100P |779 v #%3% / Black Painted
5 RIESHNZN / Screwed panel 1 7 b 31 A1050P / Aliminium A1050P [~794 Yy W=7 L= 4 + / Hairline Brushed silver anodized
7 W 3R A100P / Aliminium A100P |775 v 7%3% / Black Painted
6 |EffCA(@M M3 x 10) 8 & =mEsox— b
Screw(Countersunk M3 - 10) Steel Black trivalent chromate
1 HffC A (EfAMD M3 x 5) IA % vy b Ay x | ZEEs7O0x—
Screw(Slotted raised countersunk M3 - 5) Steel Silver , Black trivalent chromate
8 JLRE / Rubber feet A AR J L / Rubber 79y 2 / Black
Bk EEXRED) / Color TypelEnd of product numberOd)
2% / (ode filf&z / Side plate JU—=L-/X) / Frame- Panel
GS 7L — / Gray v N—= / Silver
BB 795y ¥ / Black 77v v / Black
©
© L
160
® b=
JLE / Self-adhesive rubber feet
R /Title

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

O ]

EHIY rO-Ly5—-2A
SLOPED ENCLOSURE

&R /Approved | B /Checked | #B/Created 2% /Product number RE/ScaleTz
\ CF16-110 '
A AL 173
{ERB /Date 2017/07/12




RN / Internal View

%L@ﬁ«zwwﬁﬁz

L wp 1aued PAmS /

2.5

2.5
- (e}
m
AW~tE / Max dim. 147
i 1 <
o o =
E
<
g
>
~
#H
1=
- 1 =
i T

T IESHNRIL (HR)

Screwed panel (Internal View)

13

)

%Lwﬁmtywﬂfv

‘598 “wip \aued 3pns /

30

[ x®&=2 : TY-34)2008.02.08

INAAH IR IL (HFR)
Slide panel (Internal View)

& /Title

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

@My tO-NHr -2 ©
SLOPED ENCLOSURE
&R /Approved | B /Checked | #B/Created 2% /Product number RE/Scale12
CF16-110 '
A AT 2/ 3
{EBXB /Date 2017/07/07




2k /NR)L / Screwed panel

146.8

95.3

A

/N JLFERE / Panel Frontside

REY - M

Surface protfective film side

~N7 74 vAaE (GSOH)
Hairline brushed direction

1.5

INAAFHINLIL / Slide panel

1471

95.4

N JLERE / Panel Frontside

1.5

N\

REY -

Surface protective film side

N7 T4 vAE (GSOH)
Hairline brushed direction

[ x®&=2 : TY-34)2008.02.08

/N JLEM / Panel Backside

/N JLEM / Panel Backside

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

&% /Title
EHIY rO-Ly5—-2A
SLOPED ENCLOSURE

O ]

RE /Scale

&8 /Approved

12X /Checked

A

8 /Created

PR

3% /Product number
CF16-110

1:2

{EAR B /Date 2018/12/14

3/3




	CF16-11 Model (1)
	CF16-11 Model (2)
	CF16-11 Model (3)

